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HS 2E(2012) E=9 Jl2¢
0207.11.00 | - — HUSIK %2 S(AIME 2A0IL WHE Ao 1TEX2EEH HS
St 5HCH)
0207.12.00 |- — HEUSIA 22 S(HUSE 2402 SHESH 1TEX2EEH Hs
0207.13.00 |- - BUSN ES(BA)(MAS A0ILF WEE A 1TEXEEH HS
2 BHA B
0207.25.00 |- — HEUSIA 22 S(HUSE 2402 SHESHH 1TEXREH Hs
0207.26.00 |- - BHUSN &FK(BA)XAS A0ILF WEE A2 1TEXREH Hs
2 BHA B
0207.51.00 |- — HUSIK %2 S(AIME 2A0IL WHE Ao 1TEX2EEH HS
A BHCH)
0207.52.00 |- — HUSIK A2 S(USE 2402 SHESBHL 1TEX2EEH HS
0207.60.00 | — JILIOFAHS] 24 1TEXREH Hs
0901.21.10 |- - - ZH X %2 A TEXRE HS
0901.21.20 |- - - & 8= A 1TEX2EEH HS
0902.40.10 |- - & 1TEX2EEH HS
0902.40.90 | - — JIEt TEXRE HS
0903.00.00 | OtEI(maté) TEXRE HS
1005.90.10 |- - E=2 1TEX2EEH HS
1602.32.10 | - - — X2 JtA(LE2II0 €2 Ho2 stAEHH) 1TEHXEE HS
1602.90.10 |- - Z1J| JtA(2E=II0 €2 2422 s&sH TEXREE HS
1603.00.10 | — X212 A(HEE &HIIet A2 =2 SHEH}) 1TEX2EEH HS
1603.00.20 | - X219 A(GIBE HIIGHX L2 A2 FAHSEH}) 1TEX2EEH HS
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HS 2E(2012) =59 J|2t
1603.00.30 - JIEHOBIEE &Iist 212 stESHL) 1TEXEH AHS
1603.00.90 - J|E} 1TEXE2EH AHE
1604.12.90 - - = J|E} 1TEXEH AHS
1604.14.11 - - - - 0o 1TEXEH AHS
1604.14.90 - — - J|E} 1TEXE2EH AHE
1604.16.10 - - - g2HEII0 €= A 1TEXE2EH AHE
1604.16.90 - - = J|E} 1TEXEH AHS
1604.17.90 - - = J|E} 1TEXEH AHS
1604.19.90 - — - J|E} 1TEXE2EH AHE
1604.20.93 - - = Z MY WSS MHA(AHU B He=z & 19 X2H AHS
& 8HCH)

1604.31.00 - — JHHIO 1TEXEH AHE

1604.32.00 - - JHHIoF tHE=2 1TEXEH AHE

1605.10.10 - - 2HEJI0 &= A 18 X2EH HS

1605.10.90 - — J|E} 18 X2EH HS

1605.21.10 - - — M2 HOIAE(paste) 1TEXE2EH AHE

1605.21.90 - - - J|Et 1TEXEH AHE

1605.29.10 - — — M2 HOIAE(paste) 18 X2EH AHS

1605.29.90 - — - J|E} 18 X2EH AHS

1605.30.00 - B O 1TEXE2EH AHH

1605.40.00 - 1 o xS 18 XE2EH AHS

2009.41.00 - — B2l A(Brix) 80| 20 =otAl &2 A 18 X2EH AHS

2009.49.00 - — JIE} 1TEXE2EH AHH

2203.00.10 | - AEIRE(stout)lt ZE (porter) TEXEH HS

2203.00.90 JIEH I (ale)S E&SHCH] 19X AHS

2204.10.00 - ST MH(EEM) =T 19 X2H AHS

2204.21.11 - - - - 2372 20| 822 10022 15 0lat TEXEH HH
ol =

2204.21.13 - - - - 232 Z2F0| 22 10022 15 =1 19 X2H AHS
10022 23 O|atel A

2204.21.14 - - - - 2372 20| =22 10022 232 = TEXEH HH
ot A

2204.21.21 - - - - Y32 Z2F0| 22 100=2 15 0|ot 19 X2H AHS
SIEA

2204.21.22 - - - - 272 20| 822 10022 158 = TEXEH HH
ot A

2204.29.11 - - - - 232 20| 22 10022 15 0|5t 19 X2H AHS
(o] 3i

2204.29.13 - - - - 232 E2F0| =2 100=2 15 =1 1TAXEH HS
10022 23 Olatel A

2204.29.14 - - - - 232 20| M2 10022 232 = 19X 2H AHS
not= A

2204.29.21 - - - - 232 E2F0| =2 100=2 15 0Oldt 1TAXEH HS
ol

2204.29.22 - - - - Y32 20| M2 10022 15 = 19 X2H AHS
not= A

2204.30.10 - - 232 20| d=E2 10022 15 Olotel A 1EXRH AHS

2204.30.20 - - 2I2o 20| MESH2 100229 152 =1 1EXRH AHS
ot= A

2205.10.10 - - 232 S0 dSH2 10022 15 Olotel A 19 XRH AHS




HS 2E(2012) E=y J|2t

2205.10.20 |- - L3S 20| M2 10022 152 =5t TEXRH A=
= M

2205.90.10 |- - L3232 20| M2l 10022 15 0l5t91 A TEAXEH Hs

2205.90.20 |- - L3S 20| M2 10022 152 =5t TEXRH A=
=

2206.00.10 |- Atz T Hi= TEXEH Hs

2206.00.30 | - E£CI(toddy) TEXEH A=

2206.00.40 | - MCl(shandy) TEXRH A=

2206.00.91 - — 1 9o 2tolA 2Ql(rice wine)[%& 2t0lA 2 TEXRH H=
Ol(rice wind)E XZ&&t(C}]

2206.00.99 | - - JIEt TEXEH H=

2207.10.00 |- HAGIA 22 E2LIS(LISO 220/ & 2 TEXEH H=
29l 10022 80 0lAatel X2 BHAEH})

2207.20.90 | - — JIEt IEREENE

3105.30.00 |- Q22EQIARA O|Y2E(QA0IL2E) TEXEH H=

3816.00.10 |- WSIAIHIE TEXEH H=

3816.00.90 | - JIEt IEREENE

3824.40.00 |- ANMESZ .Q2F28 L= 2I2/EE’ XA I} IEREENE
Al

3904.10.92 |- - - Jt2 TEXEH H=

3904.10.99 |- - - JIEt IEREEDE

6810.91.00 |- - XA A=W (AS20IU4 ES B RS2 TEXEH A=
SHABHCH)

6902.10.00 |- OtOUIS - 28 T= AREAAE AS0OUS TEXEH H=

A2t = M3l 2802 HHEGIYS O &t

Lt OlAate] &0l ® =29 10022 502 =15t
=

6902.20.00 |- L20|Lt- A2IIt E£= 0/E2 E&20/Lt 38 TEXRH H=
o gtRa0| M =2 10029 502 X=Udt= A

6902.90.00 | - JIEt EREENE

6912.00.00 | SXIHICS AERE - FYU2E -] 99 JIIE2E ¢ TEXEH HS
SIEARZ(XMIIMS Ae MBS

7006.00.90 | - JIEt EREENE

7013.10.00 |- |2 SXHS A TEXRH A=

7013.22.00 |- - & 3AclAez otE 2 TEXEH H=

7013.28.00 | - — JIEt TEXEH H=

7013.33.00 |- - Y 32/AER2 QtE 2 TEXRH HS

7013.37.00 | - — JIEt TEXEH H=

7013.42.00 |- - STEAH2It SN 0OZOA 300£2 Hl LHO TEXEH H=
N 12B12E S 181029 5 0|50 |22 2tE A

7318.15.00 |- - 1 £t9 A3 Z2(screw)2t 2E (bolt) [HE (nut) TEXRH HS
Lt 2t M (washer)Jt E0USXI0 AH2SICH

7318.19.00 |- — JIEt TEXEH H=

7318.29.00 | - - JIEt TEXRH HS

8408.20.23 |- - - —&l@2IH =2&0| 3,500AlAIE =5t A TEXRH HS

8483.40.90 | - - JIEt IEEEES

8525.80.10 | - — & Jt0il2t TEXEH H=

8525.80.40 | - — ZYHIA Itol2t TEXRH HS

8528.59.10 |- - — MM TEXRH HS

8711.30.10 |- - PHIAZ2A DHAOIZ IEREEE




HS 2E(2012) =59 J|2t
8711.30.30 - - JIEN(S&E2aA HEHS =) 19 X2 A
8711.30.90 - — J|E} 1EXRH A
8711.40.10 - - BHAaA=ZEA BHAIOI2 19 X2H A
8711.40.20 - — JIEN(&E2aA HEHS =) 19 X2 A
8711.40.90 - — J|E} 1EXRH A
8711.50.20 - — 2™ 2dl(completely knocked down) SHEHZ TEXIREH A

MAlIE =
8711.50.90 - — J|E} 19 X2 A




